B Q ___________ B
C
Parts List
ltem Part Number Part Name Description
1 HFP-102068 05.02.04.01 Seat Height Button Aluminium Round Tube 22x6mm machined __|
down to 20.4x5.2
2 HFP-102064 05.02.03.03 Quadrant top spacer Aluminium Round Tube 22x6mm Machined
down to 15x2.5mm
3 HFP-101965 03.02.05.01 Shaft Aluminium 12mm machined. Press fit to
D AN Column Pivot Bottom D
H“\‘\‘H‘\U‘\ 4 HFP-101955 03.02.03.02 Shaft Aluminium Shaft 10mm Machined
“‘\ “\“‘\
W ‘ RNt HFP-101917 03.01.04.04 Rudder Swivel Shaft Mid Aluminium Fabricated
6 HFP-101918 03.01.04.05 Rudder Swivel Shaft Bot Aluminium Fabricated
7 HFP-101916 03.01.04.03 Rudder Swivel Shaft Top Aluminium Fabricated
“‘““ﬂ““‘ ““" | 8 HFP-102417 08.02.10.02.01 Chassis Shaft Outer Machined Aluminium
VTR 9 HFP-102418 08.02.10.02.02 Chassis Shaft Inner Machined Aluminium
E

Project Assembly Drawing Size Scale Copyright Manchot (Pty) Ltd - All Rights Reserved. This
H ¥ document is provided to the purchaser for guidance in
S pltfl re VARIOUS A3 1 1 producing only ONE off Spitfire Mk.IX Cockpit. It may not be
duplicated or sold on.
Document Type Document Status
Assembly Drawing For Construction
Title DWG No.
HERITAGE Aluminium Machined HFD-100125 F
Rev. Date of Issue Sheet
| heritageflightsim.com 0 2019/04/11 1/10

1 2 3 4 | 5 | 6 7 8



1 2 3 4 5 6 7 8
Parts List
Item Part Number Part Name Description
1 HFP-102068 05.02.04.01 Seat Height Button Aluminium Round Tube 22x6mm machined
down to 20.4x5.2 A
o 182mm o
B
IS
S
(o]
- £ !
| R3mm N £ |
' ’_’E _)_ <
O —— - _ S
Y
IS
£ 10mm
8 e
C
D
E
Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgn/ed. T_his
Spitfire Various A3 1:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type glgt):llljcnftt-:‘en(: %;:Tilsd =
FOR CONSTRUCTION
Title DWG No.
HERITAGE Aluminium Machined HFD-100125 F
Rev. Date of Issue Sheet
| heritageflightsim.com 2019/04/11 2/10
| 5 | 6 8



2 3 5 6
Parts List
Item Part Number Part Name Description
2 HFP-102064 05.02.03.03 Quadrant top spacer Aluminium Round Tube 22x6mm Machined
down to 15x2.5mm A
- 38mm o
B
S £
5§
w ~
C
D
E
Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgn/ed. T_his
Spitfire Various A3 2:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type glgt):llljcnftt-:‘en(: %;:Tilsd =
FOR CONSTRUCTION
Title DWG No.
HERITAGE Aluminium Machined HFD-100125 F
Rev. Date of Issue Sheet
| heritageflightsim.com 2019/04/11 3/10
| 6 7 8



4 5 6
Parts List
Item Part Number Part Name Description
3 HFP-101965 03.02.05.01 Shaft Aluminium 12mm machined. Press fit to
Column Pivot Bottom A
15.5mm | 156.5mm o
B
B 172mm o
C
1 . L
T Y

€ €
S S

© N D
S )

E

Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgn/ed. T_his
Spitfire Various A3 1:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type glgt):llljcnftt-:‘en(: %;:Tilsd =
FOR CONSTRUCTION
Title DWG No.
HERITAGE Aluminium Machined HFD-100125 F
Rev. Date of Issue Sheet
| heritageflightsim.com 2019/04/11 4/10




1 5 6 7 8
Parts List
Item Part Number Part Name Description
4 HFP-101955 03.02.03.02 Shaft Aluminium Shaft 10mm Machined
55.5mm
_____ T
" hole :
T~
~_10mm
_____ l
|
|
_____ _l

Project

Spitfire

Assembly

Various

Drawing Size

A3

Scale

2:1

Copyright Manchot (Pty) Ltd - All Rights Reserved. This
document is provided to the purchaser for guidance in
producing only ONE off Spitfire Mk.IX Cockpit. It may not be
duplicated or sold on.

Document Type Document Status
FOR CONSTRUCTION
Title DWG No.

Aluminium Machined

HFD-100125

HERITAGE

heritageflightsim.com

Rev. Date of Issue

2019/04/11

Sheet

5/10

5 |



2 5 6
Parts List
Item Part Number Part Name Description
5 HFP-101917 03.01.04.04 Rudder Swivel Shaft Mid Aluminium Fabricated

38mm

M16x2 RH full length

@24mm

Project

Spitfire

Assembly

Various

Drawing Size Scale

A3 2:1

Copyright Manchot (Pty) Ltd - All Rights Reserved. This
document is provided to the purchaser for guidance in

producing only ONE off Spitfire Mk.IX Cockpit. It may not be
duplicated or sold on.

HERITAGE

| heritageflightsim.com

Document Type

Document Status

FOR CONSTRUCTION

Title

Aluminium Machined

DWG No.

HFD-100125

Rev. Date of Issue Sheet

2019/04/11 6/10




2 3 4 5 6 7 8
Parts List
Item Part Number Part Name Description
6 HFP-101918 03.01.04.05 Rudder Swivel Shaft Bot Aluminium Fabricated
M16x2 RH
- 20mm o
IS
5
Q i
| W=
§
| IR
Y

68.7mm 16mm
24 .5mm ‘ T o .
Project Assembly Drawing Size Scale Copyright Manchot (Pty) Ltd - All Rights Reserved. This
H ¥ . document is provided to the purchaser for guidance in
S pltfl re Va I’IOUS A3 2 . 1 producing only ONE off Spitfire Mk.IX Cockpit. It may not be
duplicated or sold on.
Document Type Document Status
FOR CONSTRUCTION
Title DWG No.
HERITAGE Aluminium Machined HFD-100125
Rev. Date of Issue Sheet
| heritageflightsim.com 2019/04/11 7/10

2 3 4 | 5 | 6 7 8




3 5 6 8
Parts List
Item Part Number Part Name Description
7 HFP-101916 03.01.04.03 Rudder Swivel Shaft Top Aluminium Fabricated
A
47.5mm o
47mm
19mm
@ |
M16x2 RH $
2mm Bx Q‘\Y
/ B
C
64.5mm B 20mm o
/ |
A
= £
& £ D
A N
Y
\
E
Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgn/ed. T_his
Spitfire Various A3 2:1 oraducing only ONE off Sptfre M I Cockpit It may not be
Document Type glg::llljcnftt-:‘en(: %;:Tilg =
FOR CONSTRUCTION
Title DWG No.
HERITAGE Aluminium Machined HFD-100125 F
Rev. Date of Issue Sheet
| heritageflightsim.com 2019/04/11 8/10




3 4 5 6 7 8
Parts List
Item Part Number Part Name Description
8 HFP-102417 08.02.10.02.01 Chassis Shaft Outer Machined Aluminium
M8x1.25 RH

\\M\H\\M‘

|||

\, \,‘\

4mm

19.1mm

13

A

14mm

Project

Spitfire

Assembly

Various

Drawing Size

A3

Scale

2:1

Copyright Manchot (Pty) Ltd - All Rights Reserved. This
document is provided to the purchaser for guidance in
producing only ONE off Spitfire Mk.IX Cockpit. It may not be
duplicated or sold on.

HERITAGE

heritageflightsim.com

Document Type Document Status
FOR CONSTRUCTION
Title DWG No.

Aluminium Machined

HFD-100125

Rev. Date of Issue Sheet

2019/04/11 9/10




2 5 6 8
Parts List
Item Part Number Part Name Description
9 HFP-102418 08.02.10.02.02 Chassis Shaft Inner Machined Aluminium
- 21mm o
e
M8x1.25 RH Lo
| |
| |
| |
[
I’\I
B 29mm B 12mm 18mm
10.5mm
i
|
€ 1S
1S £
< )
Q Q
|
Y £
S
O
Q
Project Lo Assembly Drawing Size Scale Copyright Manchpt (Pty) Ltd - All Rights Resgn/ed. T_his
Spitfire Various A3 2:1 rocucing ony ONE off Soi Mk i Codkpt K may not bo

duplicated or sold on.

HERITAGE

heritageflightsim.com

Document Type

Document Status

FOR CONSTRUCTION

Title

Aluminium Machined

DWG No.

HFD-100125

Rev. Date of Issue

2019/04/11

Sheet

10/10




	Sheets and Views
	Sheet1
	Sheet3
	Sheet4
	Sheet5
	Sheet8
	Sheet6
	Sheet7
	Sheet2
	Sheet9
	Sheet10


